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Math 323 Operations Research Quiz 2 Nae:

Consider the optimization problem max Z = ¢;x; + coza + e3z3 subject to:
3z, +To+13<60, T —2a+253<10, mFEp—x3<20, xIy,10,2320.

Using slack variable sy, 82, 83 = 0, we get the initial tableau:
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1. Fill in the missing entries if the final tablean has the form:
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Note that the cntrics in the row ¢ should be i tcrmsabf c1, €2, €3,

2. Determine the condition on ¢y, ¢2, c3 such that the solution in the final tableau is unique.
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3. Give ONE example of ¢;, ca, ca such that the solution in the final tableau is NOT unique.
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